“E3=5tA-A 54,004 198,648 1,700 - (5075) - — (259,208) (9,841
AEFETRA 20,000 14,800 = = = = = — 34,800
TiRERE 5,410 7,357 = = = = = - 12,767
ABRATARER 23272 53,628 = = = = = - 76,900
HERBRRRER = = = = 112 = = = 112
rEERBR - - = = = = - (35713 (35719
ZEEMERA=TER
“EIMFLA-B REES 102,776 274,433 1,700 = (4,963) = - (294921) 79,025
“EEMELA-AEHERNE
%2 (fits3) = = (1,700 4,340 4,963 = = (3,263 4,340
—ZENELA-HE] 102,776 274,433 = 4,340 = = ~  (298,184) 83,365
AEREITRE 4,000 18,400 = = = = = - 22,400
TR K 1,427 5,168 = = = = = = 6,595
BRERMN = 55 = = = 1,129 = = 1,184
REREUTEM 2 ERERT
-15%E = = = = = = (58) = (58)
—HREH X = = = = = = (10) = (10)
rEEEE = = = = = = - (714100 (71,410)
“ZZREAACTH 108,208 298,056 = 4,340 = 1,129 (68) (369,504) 42,066
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